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The FINANCE aplet
Sinking Funds

Practice solving for payment required to achieve a goal
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HP 39¢gs Sinking Fund

The FINANCE aplet

The HP 39gs has a financial solver aplet built into the calculator. To access this aplet, press . Scroll down the list using the ®
key until "Finance" is highlighted in the display as shown below.

: % APLET LIBRARY S5 EIDVRS
Parametric BKE &

Polar BKE
Sequence BKE
Solve BKE
Finance BKEB §§

[SAVE [RESET] SORT | SEND] RECY (5 ThrT JETSYO

Press to begin the aplet. A data entry form is then displayed that is used to solve a number of financial math problems.
: TIME YALUE OF MONEY
N: 12¥k: @
P @,08
PMT: @, B8 POYR: 12
Fv: @,08 End

ENTER NO. OF PAYMENTS OFR SOLVE
T T A TS gy 2

To solve problems using this display, move the cursor using the (© @ ® ® keys to each field and input its value, if known. To solve
for the unknown value, move the cursor to the field for which you wish to solve, and press menu key labeled The value of the
unknown will be calculated and displayed in the field. Note: If you enter the aplet and values are already present in some of the
fields, you can clear these values to their default state by pressing the (s#F1]key and then (e, to access the s function written
above it.

Several values are already present on this screen. The number of payments per year is set to 12 for monthly compounding, as
shown to the right of the P/YR: in the screen above. If annual compounding is desired, this value should be changed to 1. If quarterly
compounding is desired, this value should be changed to 4. Just below the P/YR: field, the calculator displays the word END,
signifying that payments are assumed to occur at the end of each period, which would be the case for ordinary annuities. If payments
are desired at the beginning of the period, a be the case in an annuity due, this value can be changed by moving the cursor
to this field. When the cursor is on this field, is displayed above the second menu key, indicating the calculator will supply a
list of choices (Begin or End) in a small CHOOSE box if this key is pressed. Note that Begin will be displayed as Beg if chosen. To
exit from this data entry screen, press a key that starts another function.

# TIME VYALUE OF MONEY

: A 12¥R: B
PY: @,88
PMT: B, BA PYE: 12
Fv: @,88 End

CHOOSE WHEN PAYMENTS ARE MADE
= Tchoos] wMorT w [ [

The HP 39gs Financial solver follows the standard convention that money in is considered positive and money out is negative.
Sinking Funds

Asinking fund is an annuity where a specific value in the future is needed, which is accumulated through a series of regular
payments. These types of problems often occur when saving for a goal, such as retirement or college tuition.

Practice solving for payment required to achieve a goal

Example 1:  How much would you need to save at the end of every month to accumulate $10,000 in 6 years? Assume the funds
would earn 6%, compounded monthly, and that you begin with nothing in the account.
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Solution:

Answer:

Example 2:

Solution:

Answer:

Example 3:

Solution:

Answer:

Example 4:

Solution:

hp calculators

(press @ until the "Finance" aplet is highlighted)
(= Le Jled (Lo Jaed (0 L1 Lo J Lo J Lo J {0 Jlemed ©

TIME VALUE OF MONEY

: 2 12¥R: &
PY: @, 88
Qdf115.72 B v
Fv: -18,0808, 808 End

ENTER PAYMENT AMOUNT OF SOLVE
Ceoir [ [ Mokt v | ToLv JESSp

$115.73

John wants to retire as a millionaire. He is 25 years old. How much would he need to deposit each month beginning
one month from now and continuing until his 65t birthday in order to achieve his goal? Assume the funds would earn
5%, compounded monthly, and that John begins with nothing in the account.

Since John is 25, he has (65 — 25) x 12, or 480 months until his 65t birthday.
(press @ until the "Finance" aplet is highlighted)
L8l (5 Jlovmed (Lo Jlemeg (0 (L1 J Lo J (Lo ) (Lo J (o J(o J{o Jlwrsd © @

TIME VALUE OF MONEY
2a 1%k 5

P 3,00

PMT: [ateiipeis) P/YE: 12

F: -1,000,008.00 End

ENTER PAYMENT AMOUNT OF SOLVE

Ceoir [ [ Mokt v | TsoLv [N

$655.30

How much money should you deposit each year into an account, beginning one year from today, to have $30,000 in
the account after 15 years? Assume the funds would earn 6%, compounded annually, and that the account begins
with a balance of $1,000.

(press @ until the "Finance" aplet is highlighted)
GJCs Jeve (L6 Jemed (1 (0 JL0 )0 Jemeg (Lo Jlewred (L1 Jlewrsgl (0 )(3 )0 J (L0 J L0 J (0 Jloreg

TIME VALUE OF MONEY

N 15 1Yk 6

Py: 1,800,806

PMT: POYR: 1

Fv: -3@,0848, 88 End

ENTER PAYMENT AMOUNT OF SOLVE
Ceoir [ [ AMokT v | ToLve [N

$1,185.92

How much money should you deposit each month into an account, beginning one month from today, to have
$30,000 in the account after 15 years? Assume the funds would earn 6%, compounded monthly, and that
the account begins with a balance of $100.

(press @ until the "Finance" aplet is highlighted)
80 b CeJfosd L o) 0 Jlewns Lol () (2 s () (300 ) (0 (0 Jford
©
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Answer:

hp calculators

$102.31

% TIME VALUE OF MONEY

: 188 2k 6
PY: 188,60
E PYE: 12
Fv: -38,000, 80 End

ENTER PAYMENT AMOUNT OR SOLVE
(EDIT ] | AMORT W[ |SOLVE!

Figure 7
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